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INSTRUCTIONS

1. Atthe start of the examination before attempting the question
paper kindly check your test booklet and OMR Answer Sheet
and ensure that :-

» The serial numbers of test booklet and OMR answer sheet are
same. _

¥ All pages of test booklet & OMR answer sheet are properly
printed and test booklet is not damaged in any manner. No page
of test booklet is missing.

In case of any discrepancy/defect the candidate should xmrncdzateiy

repost the matter to the invigilator for replacement of test booklet &

OMR answer sheet. No claim in this regard will be entertained after

five minutes of start of examination. Candidate will be lizble for it.

2. Answer all questions.

3. All questions carry equal marks,

4. Only one answer is to be given for each question.

5, If more than ocne answers are marked, it would be treated as
WECDE ANSWer.

6. Each question has four alternative responses marked seriafly as
1,2, 3, 4. You have 1o darken only one circle or bubble indicating
the correct answer en the Answer Sheet using BLUE BALL
POINT PEN.

7. 1/3 part of the mark(s) of each question will be deducted for
each wrong answer, (A Wrong answer means aa incorrect answer
or more than one answers for any guestion. Leaving all the
relevant circles er bubbles of any guestion blank wiill not be
considered as wrong answer.)

8. Possession or use of Mobile Phone/Blustooth Devices or any
other electronics gadget in the examination hall is surictly dealt
as per rules.

§. Please correctly fill your Roll Numberin O M.R. Sheet. 5 Marks
will be deducted for filling wrong or incoinplete Roll Number.

10.3f there is any sort of ambiguity/mistake either of printing or
frctual natire in Hindi and English Version of the guestion, the
English Version will be treated as standard.

Warning : If a candidate is found copying or if any wnavthorized

material is found in hisfier possession, FLR. would be lodged against

himy/ber in the Police Station and he/she would liable to be prosecuted
under Section 3 of the State Prevention of Unfair means Act,

1992 and Board Regulations. Boatd may also debar him/her

permanently from ail future examination of the Bonrd,
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Consider the following statements.

According to 73rd constitution amendment ;

a) Panchayat Raj Act in Rajasthan was introduced on 23rd April 1994,

b) Itis compulsory to call the meeting of gramsabha twice during a year.

¢) Itis compulsory to reserve one-third seats for woman at all levels of Panchayati Raj.

d) One-third reservation is also compulsory for Scheduled Castes and Scheduled Tribes.

Which of the statement/statements given above is/are correct? Select the correct answer on the basis
of code given below : o

1) aand b only 2) cand d only 3) a,b and ¢ only 4) a and d only

T el ur feme ife, 738 ofwm daes & erar 4,

a) TUEIAr o9 sl T {23 o 1994 § @y fear .

by I gy @ oad § &7 g oo e B

¢) UEHdl O % T 'R wy Afgenel @ w e s aifyed ¥ o

d) gl Wiy vd el o oy & g o o e sme sifEr § )
TR FI/EIA H T B we € 7 A v T g $ omar W wd ser g

1) a T b ¥ 2) ¢ wd d FHaw 3) ab @ ¢ &aw 4) aUd d %

Which of the followings are fundamental duties of the citizens in the Indian Constitution 2,

a) To respect national flag and national anthem. - : -

b) To render national service when called upon to do so.

¢} To endeavour social reforms. _ o

d) To value and preserve the rich heritage of our Coplposi.gé cultyre.

Which of the statements given isfabove. correct 7. Select the correct answer on the basis of code

given below.

1) aandb only 2) a, band d only 3} a, band conly 4y cand d on.lly

HREE G H FE A ARG & B Hifas eI €7

a) TG eESl TN AT BT AT HTH |

by SEM W UL & g Afdd w

¢) WHTHF R @ A H |

d) O W WRPH W WYE UUER I Hed R Rl G SHET S @i

Sl syl § G B wE € 7O R T e % TR WORE T g,

1y 2w b 2) a, b TE d W 3) a, b U ¢ 4) ¢ d FeE

. Shrimati Vasundhrai Raje remained Chief Minister of Rajasthan first tune during ...
31 Raj g

1) 2004 - 2009 2) 2001 - 2007 3) 1999 - 2003 4) 2003 - 2008

3 o P.1.0.
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3) el gl WS USTEE 6l eE T YEd w9 ey, T |
1) 2004 - 2009 2) 2001 - 2007 3) 1999 - 2003 4) 2003 - 2008

4)  Consider the following statements.
a) The total number of members in the Loksabha from Rajasthan 1s 25.
b) The total number of members of Legislative Council in Rajasthan is 200.
¢) In the Loksabha 4 seats are reserved for Scheduied Castes and 3 seats for Scheduled Tribes
from Rajasthan.
Select the Correct answer using the code glven below :

1) aand b only 2} aand c only 3) bandconly 4y aonly

) P wE @ e i |
Q) e HW O TR Y 5E 25 95§
by TRy ¥ fgum ufivg & g g e e 200% |
¢) @ anr H a4 -orgafae SR B 46 ol egafie aw o @ 3 We o ¥
T el % ey WX EE! ST 1 gAE difaT |

1) atd b Fae 2 awdcdaw  3) b c 4) apaw

 5) Parliament in India consists of :
a) 'The President .
b) .Rajya Sabha and Lok Sabha
¢) Prime Mmister
d) The Vice President
Select the correct answer using the code given below :

1) aand bonly 2) ‘a, b and c only 3) a, b and d only 4} b,cand d only
5) R ¥ dug 4wt €
a) Tyl
b) Ty W Ud @l 9 ’
c) - v
dy e Uiy
'Hﬁﬁﬁw@f?uﬂwwﬁwaﬁq -
1) aug b FHed 2y a, b Td ¢ HIA ' 3N ab T:{Erd vc\ha—ﬁi( i4} E} ¢ Ud d FH
 6) One amongst the following statements is incorrect, find out : R

1) The constitution was adopted on November 26,.1949 and it came into effect on January 26,
1950, : S _ )
2) Lord Bentnck was the first Governor General of India.

3) Pandit Jawaharlal Nehru was the first Prime Minister of India.

4y The Directive Principles of State policy constitate the fourth past of the constitution.

26 - @ 4
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6) Frer wudi § 9 uw wYT oEd | iR
1) =enT @ 26 e 1949 # wike ey it 98 26 S99 1950 & @ g9
2y g afvee e & vuw TeHe S 8 | '
3) Rew waTETEE dEE WA % wuW 9uW w8 | |
4y o W % Rlew Regi o & 99 w9 & guia § )

7) One amongst the followings is incorrect about Lok Sabha, find out.
I} The present strength of Lok Sabha is 545.
2} The elected members from the States are 530

3) The elected members from Union Territories are 13
4) The elected Anglo Indian members are 2.

| 7)o w3 a & Few B & wp wwe ¥ | oar B |

1) @ T & Sanr GE 545 %

2) T ¥ g9 §U U 530 % |

3) &% onidE weel ¥ gA B¢ wew 13¥ |

4) Ul sfsgw 9o g0 9 2§ | : o

8) The representative democracy introduced at the village level is through ;

1) Gram Sabha 2) Panchayat 3) Sarpanch ..., 4), Panchas
8) wm w wy R woesr R o an B v B, w0

DI L 2) duwEE 3w A dm

9) In the history of Indian constitution the most controversial amendment in the constitution was :

1) 42nd Amendment ' , 2} 76th Amendment
3) 79th Amendment ‘ 4) 89th Amendment
? 9) 9 deym & e A geg farrs iy ey ar .
1) 42 df dsies 2) 76 | geles 3) .79 9f darem - 4) 894 gemeN

10) Which constitutional Amendment in India made primary education is a fundamental right ?
1) 80th 2) 81st S 3) 82 4) 86th

10) e dfaam delied @ s # wafe foen =6 G aifae gam & 7
1) 80 2) 81 3) gz 4 4) 86 &

5 = P 0.




11) Large earthen pots called “Gore and Koth” and meant to store:grain have been found in which
ancient civilization 7 e :
1) Ojhiyana 2) Kalibanga 3) Jodhpura -4) Aahar .

1) o v 3 9% qaee R i deie e o o, Few SRiE W § T ga 7
DoeifEE ) weEw 3) SR 4) am
12) Who discovered the prehistorical paintings in Alaniya in Rajasthan ?
1) DH. Garden ©2) Dr.S. Kumar
© 3) V.S. Vakanker ‘ 3 Dr. Jagatnarayan-
12) e § st & iR R @ de e A |
1 & wy, TN | 2) & UH. $AX "3')' é‘; s a{eg_um' 4) =, AIAEREN

13) In Marwar there was a tradition of granting. Siropav, for bravery, literature, 'sefvice. The highest
Siropav was. ‘ ' '

1) Palaki Siropav | ~ 2) Hathi Sn‘opav ..

3) Ghoda Siropav =~ - 4) Kara Dushala S:ropav o |
13) ARETS F &, Hﬁ%&‘f %Eﬂﬁﬁﬁrq i‘éﬂw”éﬁeﬁ‘rmzﬁ@r Hﬁiﬁl%’?ﬁmm—

-1) e R s 2) =l R

3) =yer Bl o - 4) w3 o o

14) Who said “The. Mughai Emperor for half their victories were graceful to the Rathore s and thelr one

lakh swords”

1) Col. Tod & : 2) Me. Millan ~ 3) Al Basham - 4 Alﬁston
14) “Waﬁmmﬁaﬁrﬁ%mﬁ%ﬁmmﬁwwaﬁam%sw%”'ﬁmm%
C Dwdmer ) WWRew . %) nLUE AR 4) mefeeR .,
15) Which archnecmrai styie of temple archztecture’s ‘Bhumis Style’ is sub-styleof 2 ‘v .

1) Nagar Style R ~2) Dravid Style - ‘ A

3) Indo-Persion Style AT 4) Besar Styie L T
15) aAfer s w6t g SR %ﬁﬂwﬁﬂﬁmf?{&ﬁ%? o RS

Damdet  pmRedd 3 vEuaE . 4) dwm i

16) “The emperor had made the Rai_ia of Mewar subordinate to him throy'gh negotiations not through
force” who made this statement? : :

1)} Sir Thomas Roe  2) Sir IN. Sarkar 3) Col.Tod * 4) Dr. Beniprasad

SRT——



26
16) “msm%m%wﬁmmmﬁmmm ;’(%E’ﬁﬁi”?}aﬁﬁﬁ’f%?

1) &t emg 2) W H. U WER
3) @He TS 4) = & yEE
17) In Rajasthan in whom is the ‘Underiya-Panth’ Prevalent ?
1) In the Bhils 2). In the Meenas 3) In the Sahriyas 4) Inthe Gai‘fa'éiy&_s
17) vrere ¥ “gaRan v Rew el & 7 S o
1) Al A 2) dwomeif 3) wgefvar A R H

18) ‘Gubbara’, ‘Nusarat, ‘Nagpali’, ‘Gazak’ are names of which ?
1) The names of the cannons in Jodhpur Fort.
2) The names of the Prevalent regional sweets in mewar;
3) The names of the dress of the thikanas of marwar.
4) The names of the established revente taxes.

18) “apepr”, ‘qERR’, SRR, (TR AW R |
1) wiegy gl @ A % T
z)ﬁmﬁqﬁaﬁaﬁa@%w
3) wwars faw & awit % T o
4) HaTg ¥ Wl (ot agel BU & A

19) Who established the library ‘Pustak Prakash’ in the Jodhpur Fort ?

1 Jaswant Singh ~ 2) Ajit Singh 3) Man Singh : 4) Takhat Singh
19) @W%ﬁﬁ“wmﬁf’maﬁw%ﬁaﬁ? _
1) s e Detm R B mwame 4 @R

20) What is the ‘Mughdhana’ in the culture of Rajasthan 7 _
1) The offering of heena to the goddess and then dism’ouung it among the guest
2) To Serve the Bridge ‘Moong and Ghee’ '

3) Bangles of lac in which silver wire is threaded
4) The sticks which are used to cook food which brought after the WOIShlp of God Vmayaka

20) TERAE Y ol § g R -
1) A @ HEET werst Hewr | dfe |
2) ayg ®1 4 w4 e |
3) @@ o gear Bed 9 o w5 R o R |
4y € g & o dwledl o o wee & uvEn A o §

26- & 7 o PF0.

R



26
21) In which mint the ‘Iktisandha Rupee’ was minted ?
1) Jodhpur 2) Sojat 3) Kuchaman- 4) Merta
21) “gerirgar’ EOaT TR Bl T ehuE § gar 91 ? -
1), SIgE 2) Hor 3) guFH 4 HEE

22) Where is the tradition of the famous ‘“Naher dance’ establish Which is there since the time of Mughal
Emperor Shahjahan ? ' ‘

1) Mandal " 2) Chomu 3) Chaksu 4y Kishangarh
22) W wHiE SWESE % on ¥ # Ui Al 9 & @ &) U wel wied ¥ 7
1) =vEw 2) € 3) WY 4y fpe

23) In which year did Acharya Tulsi start ‘Anuvrat-Andolan’ 7

1) 1942AD 2) 1949 AD " 3)1945AD 4) 1952 AD
23) onerd gl ¥ “HuET ST B GNAE &9 B 7
D 19424 2) 1949 %, 3) 19458, 4) 1952%.
24) To resolve the related problems of the cstates when was the ‘Rlyasati Vibhag’ established?
1) 5th July 1947 AD 3 10th Octobel 1946 AD
3) 31st March 1948 AD 4y 04th January 1947 AD
24) Rereet § it wersl % @ % fag CRargdl fwm ol wmr s @ i 7
1) 5FaE 19472, 2) 10 SR 19468,
©3) 31 TR 19482, | L4y ATEEd 1947,
| 25) The twenty one point demand charter dalled “mewar pukat” v feldted to whom ?
L 1) Motilal Tejawat 2) Manikya 'lai Verma

3) Vijaya Singh Pathik | | 4) Sadhu &1tammdag

25) ‘“HarE g’ ZI@WWWHWW?
1) e ey 2y iR guf 3) ﬁmmm F o4y T éﬁm.arﬁ

'26) What was the annual incomeé of ‘Matsy-Sangh’ during the process of unification of Rajasthan ?
1) One hundred eighty four lakh Rupee
2) Two hundred ninty lakh Rupee

3) Three hundred twenty four lakh Rupee
4} Twenty Six lakh Rupee

. 6 - .

4oL
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26}%%&6@%@%%@%@@&%@%@2%?
1) 184 &8 599 2) 290 ¥WFE T 3) 324 WG ©9Y 4) 26 @@ &9

27) Which province of Rajasthan was called e eighth wonder of the world by Pt, Jawahar Lal Nehru
1 ) Jaisalmer ' 2y Bikaner 3) Jhalawar 4) Kota

27) TR Wl Ty Raw @) .S Wi eE A fava @ aeal oneed w7

1) Swere 2) T - 3) greTarg 4) &rey

28) During which Prajamandal movement did the ‘Kangad Kandh’ take place ?

1) Jaipur Prajamandal - 2y Bikaner Prajamandal
- 3) Kota Prajamanciai 4) Jhalawar Prajamandal
28) ‘@iz v Y TWTHUSH SIRGIAT & 4N Hied goT 7
1) TR TEEE 2) &R s
3) wrer FeTHE | &) FTETS SR

29) During the revolt of 1857 who said the following “The _Engiish have gone back on their words did
they not occupy Awadh ? Hence they should not expect that Indian will also abide by their words”.

1) Tantya Tope . 2) Hakim Ahamad
3) Pratap Singh 4) Muhammad Ali beg

29) o & orrdl s s A B | 7 R oM R SRTE T R ? om o a8 e T aeh
e o wreelta st gy @ e w17 18578, &1 i % g H we fewd e ¢

1) dier En | 0) T o 3) wam Rz 4) gewmE S AN

30) Which amongst the following is net la musical instrument played by wires 7

1) Janter 2y Rwaj 3} Chotara: 4) Satara
30) Forey & o a7
1) 2) W@ 3) dam 4) §aw

31) The average of 6 numbers is 20. If a;numbf:,r is removed then avc’ragc. becomes 15. In place of

1) 17 2) 20 3) 19 | 4) 18

31) 6 wEmEl oo 20 &1 aft um den wer & o @ ol 15 € o ¥ 1 eed ol g & we

UY 30 Giiew uv ww vy 6 gl mr o B owEr L
1)17 ' 2) 20 319 ' C 4y 18

26- & a S PO ¢
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32) The average of 15 numbers js 40, In these average of first 8 numbers is 30 and the average of last 8
numbers is 50. The value of eighth number will be ..... '

1) 40 2) 30 3) 35, : 4} 50

32) 158@1@1"[65?\3?(‘8340%iEﬂﬁﬁWSH@ﬁﬁﬁﬁﬁﬁHﬁ%ﬁ?WSWﬁﬁﬁﬁmSG%l
A aredl S B AN A L

1) 40 2) 30 335 4) 50

33) A person spends average Rs. 1800/- per month in first 4 months. In next 8 months spénds average
Rs. 2000/- per month. In the end of year saves Rs, 5600/-. Then his average monthly income is .....

" 1) Rs. 2000/ 2) Rs. 2200/ 3) Rs. 2400/- 4) Rs. 2600/-

33) qmna:ﬁuarmmﬁaﬂmamgooz«m@ém%1@@8%%%1.2@00/-9%% |
T o § 1 ad § 35600/ Tl a9 s § | A Sue ol mive o ¥

1) %, 2000/ 2) 7. 2200/- 3) . 2400/- 4) =, 2600/-

34) Aperson lent Rupees 10, 000/- at the interest rate of 10% per.annum compounded yearly. How much
rupees he will get back after 212 years.

1) Rs. 128101- 2) Rs. 12510/- 3) Rs. 12705/ | 4) Rs. 12910/-

- 34) um =fed 9 %, 10,000- 10% m%aaqﬁwﬁﬁ%mmmmﬁﬁ | 2V T U 39

oy v ot REw |
D 7. 12810/ 2) % 12510 3) % 127051- - 4) 2. 12910/

35) At what percent yearly rate of compound interest a sum of money will become four times in two
years 7 |
D 75% 2) 100% 3) 60%_;'- S 4) 80%

35) frm wfasts O whgls = @ e A uw amuly &l F aw gl & e 7
1) 75% CoDw00% - D% L 4)80%

36) The corﬁpound interest on certain sum is Rs, 376.20/— and mmple interest is Rs. 360, What is the sum ?

1) Rs. 2000 2) Rs. 2100 3) Rs. 2300 4} Rs. 2200
36) Wﬂﬁrﬁza&mmﬁmf 37520#%*@%1‘{@%:@@73% 360/ € | gz uiy fadt B
1) = 2000/ 2) . 2100/~ 3) 72300/~ 4) 2200/

37) The average number of tuns scored by ‘A’ in the last 10 malo’ne@ is 42 and by ‘B’ in the last 15
matches is 57. What is the average runs scored by both 7

1) 47 ) . 2) 52 3) 51 : 4} 53

37) T 10 TR H AT & TR ShEd W 42 9u B mmi:&m&ﬁﬁﬁmmw i 57 % | Sy
o T T e wEY R

1) 47 2).52 35 | 4) 53

10
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38) A series of seven conisecutivéintegers is given. In that series average of first five mteger<: is N, What
is the average of all seven integers, ‘ '

| SN+2
1) N+2 . 2)N+3 3)

7

4y N+1

38) ﬁrﬁr%w Wdﬁﬂﬁ@%ﬂﬁﬁgﬁﬁ%iwﬁgﬁ&ﬁﬁﬁﬁﬂmsmﬁmN%fﬂﬁ
ard sl & i w de ?

1) N+2 ) N+3 3) SN;'Z 4) N+1
39) If the average of m numbers is n2and that of 7 numbers is m?, then the average of (m-+n) numbers is
1)y m/n o 2y mEn 3) m-n | ‘ 4 mn |
39) =t m dmal @ w2 o ol i n Gl B e ar, %, aa(mm)awaﬁ 1 g € 1
1) m/n o 2) m-+n 3) m-n 4) mn

4()) There is a tree on an island snuated with in a river 100 meter wxde At the both banks of river the,re
are two opposite points P and Q. Tree and both points are in d st;mght line. The a,nglc of elevatlon
from point P and Q to the top of free are 30° & 45° respectively. Then height of the tree is .....

| noly3-1 2 so(fm) 3 25(J§+1) o 10043 -1)

40). 100 Hrez 9 7 # z&m@a—s—% aﬁ%aﬁmﬁwwa@wm&aaﬁqmﬁm
%i%ﬁﬂ@ﬂ‘f%@ %@ﬁ%t?eﬁtqﬁﬁﬁﬁgmsﬁﬁww 30° $R 45° @T TFET H
TR IR RS .

D 100(3-1). 2 soly3-1) 3 25(\/~ ﬂ) C 4 100(3-1)
41) I a shadow of a tower i§ ./3 times of its height then angie of elevation of the sun is .
1) 30° 2} 60° C3) 45 : 4) 150°

41) oy <t # wr B o T S @ /3 o E A E S i A
1) 30° 2) 60° 3y 450 0 4) 150°

© 42) From a point P at the ground a Jet Plane has 60° an‘gle of elevation. After 15 seconds its angle of

elevation becomes 30°. If Jet Plane is flying at the same height of j 50043 meters from the ground,
the speed of Jet Plane is . -

- 1) 150 Meter/Sec 2) 120 Meter/Sec _ 3)"136 Meter/Sec 4) 200 Meter/Sec

42) uw SE W @ TaE Hol SE W 0k B PA 60°F | 15 dfeve A suet e 30° 8 S B
| af Sie e sl 150043 Hew o wam Sur woag e 6 a9 Se 9w 2
1) 150 wfieyd. 2) 120 gy, - 3) 136 gy, 4) 200 TEIE,

Rk | PT.O.
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43) Rs. 8400 is divided among A, B, C and D in such a way that the ratio of shares of A B is 1:2, B:Cis
3:1, and C:D is 2:3. Find the sum of shares of A& Cand B & C. It is .....

13 Rs. 3600, Rs 4500 2) Rs. 3000, Rs 4500
3) Rs. 3000, Rs 4800 ‘ 4) Rs: 3600, Rs 4800

,.W:i 43)?8400/-ﬁABcaﬂm%wwmmam%ﬁsm%@ﬂaﬁmm%wBc‘e:31
| ARCDE¥23. AGCTONBICH Rl mram and &0 | o & .,

1) %3600, %. 4500 2)° % 3000, %. 4500
3) 2.3000, 2. 4800 4) . 3600, 2. 4800

(v» ; d 44) The ratio of total amiount distributed in all the malas and females as salary is 6:5. The ratio of salary
L of each male and female is 2:3. The ratio of no. of male and female is .

1) 5:9 2)5:7 3y 7:5 4) 9:5

44 qedi o ARwIST % e g S T o B 65 L g6y ot s A B B
' m@mmmﬁzﬁt@agﬁ@mﬁr@ﬁw@mﬁﬁmﬁm% .....
1) 5:9 2)57 ! OGRS 495

'1 45) A bag contains Rs. 820!— in form of Rs. 5, Rs.2 and Rs. 1 c;oms The nnm‘oer of coins m the bag are

1) 80 : 2y 100 3y 120 v 4) 140

imraticof 4:6:9, The number of Rs 2/— coms in the bagls ..... .

{ 1) 80 2) 100 3120 4) 140
45)@&?{%?5#%21aﬁu1/-%%@%6@%32@/*%5%%@%&&%&{@?%&%
0 4:6:9F 1 g6 H 22 & Rl W wEn ¥ L

46) In an examination, 35% of the candidates failed in Mathematics and 25% in English. If 10% failed
in both Mathematics and English, then percentage of candidates passed in both the subjects is .....

1) 50 2) 55 3) 57 : 4) 60

46). e i 3 35% et T H SR 25% S ¥ eIl gl | AR 109% Tl ¢ sich BT R
STl G i At Tl H wiiol areafdiat ol ¥
1) 50 s <) A

47) If numerator of a fraction is increased by 200% and denominator by 400%. The resultant fraction is

. .
Egg then original fraction is .....

; 13 AREY 3} 6 o
0, Yy ) 5% 2]

26~ € ' 12

it JE P —— o st T
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47) w%%amﬁzooem?waﬁmo%aﬁg@ahﬁ%:sﬁﬁwﬁm’ffﬁ:{l %ﬁrnﬁﬁm%

D1, R 3 % Rt

48) 35% of 42% of & of 500 will be ...

1) 63 2) 44 3) 52 4) 60
48) 500% O F1 42% N 35% BN ...

1) 63 2) 44 3y 52 4) 60

49) The simple interest on Rs. 1650/~ at the rate 4% p.a is less by Rs. 30 than the interest on Rs. 1800/~
calculated at the same rate. The time period of money lent is .....

1} 3 Years ©2) 5 Years _ 3) 4 Years ‘_ 4) 6 Years

49) z. 1650/—@4%&%3?@@%%%3‘(@? 1800/-.q1mf&ramw 30/- %9 ¥ | TYUR
o o 2 aaEty § | ;
1) 39 2)5arc€ | 3)43&_ o 4) 6ad

50) A certain sum of money amounts to Rs. 2613/- in' 6 years al the rate of 5% per annum by simple
interest. In how many years it will amount to Rs. 3015 at same rate 7

1) 20 Years 2) 15 Years 3) 10 Ycars : 4} 5 Years
50) w e i 5% i T T 9 A ¥ 699 # <. 2613#%3?{1??(%'1%3‘{@{?13%63‘1@3'

H %3015/ ¥ Wl ? o

1) 2099 # 2) 159 § 3) mae?r?r' 4 sEd A

- 51) A money-lender finds that due to fall in rate of simple interest of 13% p.a by 0.5%, his annual

income reduces by Rs. 104/-, His lent capital is ... - N
1) Rs. 20800/ 2) Rs. 32800 3) Rs.34600/~ ~ 4) Rs. 36400/

51) v dER @ var ged § B drme e 21 13% 9 ¥ 0.5% @ inee 9 w s aifds
e H 3104/ ) € W B | owd suw &l g R

1) 2. 20800/ 2} T 32800/ 3) % 34600/- 4y T 36400/

52) The sum of squares of three numbers is 532. And the 1atzo of ihe first to the second as alse of the

second to the third is 3 ; What is the sccond munber ?

1) 10 2) 12 3) 11 4) 14

13 P10,

B AR PSS gy
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52) fﬁﬁﬁ@ﬂﬂﬁ%@ﬁﬁ&ﬂ%%t@ﬁ@ﬁﬁﬁﬁ?ﬁmwmﬁma 2% | 593 T

a1 Bl ?
1) 10 2) 12 3) 11 4) 14

53) The ratio of the number of boj%’s to the number of girls in a school of 1638 students is 5:2, If the

number of girls is increased by 60, then what must be decrease in the number of boys to make the
new ratio of boys to girls as 4:3 7

1) 506 - 2) 466 3) 416 -4 496

53) 1638 freniiEt % wpw ¥ vl @ Gen o e @ der e s 52 | af vl A de 60
% S &, 59 OEl SR srel w1 Far SgeTe 4:3 W S & fordl o 6l de ¥ g wi e e

1) 506 2) 466 346 4) 496
54y fa:b=4:5b:¢=20:11andc:d= 6 7. thenvalueefa b c:dwillbe ...
1) 48:60:33:77 2) 80:100:44: 66
3) 96'120*66'7’7 o 4) 56 70 66: 77
54) afta:b=4: 5,bic=20: 11alRc: d=6: 73’{??:& b c: daafmm .....
1) 48:60:33:77 ) 80 : 100 : 44 : 66
3) 96:120:66:77 | 4) 56:70:66:77
1~sind | 2

35) If tan 6= —t;hen valoe of is

+5in®

ny ?)}/ 3)% X,

55) zrfatane_i@rl sind) T A A )
3 1+sm8

56) If tanf = cbt@ - where (<8 </ then value of © wﬁl be

2
56) a%tanezc(}{_{%,(}{g? 0<é<%fﬁ A : o

A % 3)%  b

57 If the Eeng{h of shadow of a pole on the level grozmd is twice of the iengih of that pole. The angle of
elevation of the sun will be

1) 30° 2) 45° 3) 60° ~ 4) None of these
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37) aﬁw@aﬁmaﬁwwaﬁm@@maﬁmﬁﬁﬁ%sfﬁﬁﬁaﬁiwméﬁn...

1) 30° 2) 45° 3) -60° 4) T ¥ BE @
58) The value of WlIl B voren
1) cotd —cosech 2) secB~tanf 3) cosecB—cotd 4) tand - sech
58) S@C@.“I
ey ® A BRI .o
1) cot8—cosect 2}‘ secO~tan 3) cosech — cot 8 © 4) tanf—secO

59) If tan X = sin 45°. cos 45° + sin 30°, then the value of X will be .....
1) 30° 2) 45° 3 60° 4y 90°

‘59) IR tan X = sin 45°, cos 45° 4 sin 30° & X &l 5 iﬁ’ﬂ .....
1) 30° 2) 450 | 3) 60° o 4) 90°
60) In aright angle triangle the length of arms making rightangle is aand b. Then area of the triangle will be
, 1 - 1,
I ab . 2) %afb R X OB (X
60) T TR BgSt § W e A el @ T a G b ¥ | 7 Braw o deee o L
D oab | D) -i—ab_ o - 3) —;—avaz +b* 4 —‘;—ba}az +b*
61) In a rectangular quadrilateral ABCD BC=band AC =C, then area of the quadrﬁateral will b# .....
1) b.e 2 biee B bbioe 4 bt
61}Wam:mwaaéa‘fABCDﬁBczbaﬁ‘(Acch%mgeﬁ%;ﬁ‘ra@ﬁ F BT ST BT L j
Db | 2) "bi/b2 #c! 0 3) bbT-dt 4) byc? b

62) A reciangular quadrilateral is divided in such a way it get divided into two squd.res if each arm of

squares is “a”, then the length of hypotenuse of the rectanguim qaadmateral will be .....
1) 2a 2) 3 a 3) 2\/'2‘& - 4 SFa
62) ww auaER aeew % O ead Ty ger Y od ¥ B ue & aoler gads § el e b ol
T GTYA B U YT “a ”ﬁumm<mmﬁmfmmﬁ?ﬁ .....
1) 2a 2 Ba 3) 2V2a 4) J5a

15 P.T.0.
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63) A runner completes a race of 4.40 Kilometer by taking 10 rounds of a circular field. Then the area.of

the field will be ...,
1) 15200 sq.mts 2) 15600 sq.mis 3) 15400 sq.mts. 4) 15800 sq.mts
63) Ut GEeh U iR N % 10 g ot 4.40 6. . S gl S 8 | ) Aer @t S g
1) 152009 ®.  2) 156007 . 3) 154007, . 4) 158009, #.

64) A man loses 20% of his money. After spending 25% of the remainder, he has Rs. 480/~ left with him.
How much money did he originally have ? -

1) Rs. 872/- © 2) Rs. 840/~  3) Rs. 800~ 4) Rs. 820/

64) W@%MW@%%@T%W%W%IWmﬁﬁzs%@éw%qsmmw
%, 480/- 999 ¥ | 9% I gwa: ﬁ‘oﬁvﬁmmﬁsﬁ 7

1) =872 2) T840 3) 2800/ 4) 7. 820/-

65) A merchant purchases an item for Rs. 500!- He marks at its prlce Rs 700/~ He allows 10% discount
on cash payment what is total profit in terms of amount and pert‘entage?

1) Rs. 130526%  2) Rs.150430% ~ 3) Rs.1201-24% 4) Rs. 70/ 14%

65) T IR TF TE & L 500/- % Tt & | 7 T 2. 700/ G ST BT & | 9% WeE I W
io%ﬁzgeém%lmﬁﬁq%swﬁwww%f |

1) % 130/-26% 2) . 150/-30%  3) B 130/-24% 4) 2. 70/~ 14%

- 66y If cost of 20 pens is equal to the selling price of 23 pens. What is net loss pércentagé ?

1) 25% oD 20% 3) 5% 4) 15%
66)aﬁﬁ@%@fﬁﬁﬁazﬁmaﬁrﬁmm%w%iwsﬁﬁmmw%?

1) 25% 2) 20% - 3) 5% 4) 15%

67) “A’ started a business with a capital of Rs. 10,000/-. Four mcxiihé later ‘B” Joined him with a capital
 of Rs. 5000/-. What is the share of A in total profit of Rs. 2000/~ at the end of the year 7

‘1) Rs. 1200~ - 2) Rs. 1300/- 3)- Rs. 1400/~ - 4) Rs. 1500/
67) ‘A 7. 10,000 &1 ol & = 76 B | = A e 2. 5000/ w5 6R weR BT 5E W
e | ad & ofE ¥ e W R 20004 F A w Rmr e ¥ Y _
1) %1200/~ 2) 2. 1300/ 3) 71400~ . 4) 21500/

68) A milkman procures 20% more milk by fraudulent measurement. He sales it by mixing 25% water
in it. His total gainwill be .....

1) 45% 2) 40% 3) 50% 4y 48%

% @ B 16
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68) e giery W § IR 20% T4 IferE AT § | 9% TEY 25% TR e ST 8.1 S0 $W e

1) 45% 2) 40% 3) 50% 4) 48%

69) “A’, ‘B’ and ‘C’ enter into a partnership. ‘A’ invest Rs. 320/- for 4 months, ‘B’ invest Rs. 510/- for 3
months and ‘C’ invest Rs. 270/- for 5 months. If the total profit is Rs. 208/~ then share in profit of ‘C’

is ...
1) Rs. 64/- 2) Rs.76.50/-  3) Rs. 6750 4) Rs. 68/-
69) *a’, B’ &R *C’ wErETd § s € € | AT 4 9% % R T 3200, B’ 391 % Rl 2. 510/ 3R O
57 & o £ 270~ % o9 @ £ | ofd gw A 2. 208~ R A e H O @ R ® L __
1) 2. 64/ 2) £.7650~  3) T6TS0- . 4) R 68/-
70) If o+ ﬁ;% then (1+tana)(1+ tan 8) will have value .....
.1_) 7 | 2) 3 . 31 IR 4) 2
70) ulg a’+ﬁm~§~ o (1+ tan @)1 + tan B) %1 HIF € ......
o | |
1 = 2) 3 1 4) 2
) T ) V3 3) o )
- 71) ¥f cos*0—sin‘e = 23 then value of 1-2sin’Gwill be ..... .
4 ' 2 C 1/
3 2) 0 3) % 4 Y
71) gt cos'0 ~sin"0 = 2 7 1~ 25in’0F T BT .... |
4 - - -
Dy 2) 0 3% .4)4- -
72} The ratio between of a squarc shape and a circle of max1mum radius withia it is .....
y Lz 2) 2w 3) 37 4) 47
72) i quisr sl @ ofift ol wud ofey aftman B & ga @ oRfa @ egTE B L
1 L 2) 2 3) 3. | 4) 47
;
LA o | PI.O. é
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73) In a given figure a semi-circle is drawn at the base of an isosceles triangle. In that tan8 = 23 and

diameter of semi-circle is 2a. Area of the figure is .....

1) 1+

2) (1+2)a

) (57

IE AN
o (55

73 ﬁﬂé@@ﬁfﬁwwﬁmg%ﬁﬁ%ww@'
e i & | e an0 =24 oin |
. el ol BARE 22% | LYl AAEA ¥ L

D (+74)a

2) (1+7) a*

74) The measurement of outer periphery of th'e'f‘igure in question no . 73 1s ...,
y (VB3em)e | 2) (WEam)e . 3) (MiTem)a 4 (5+7)a

T4) wew wn 73 % Al ¥ A g w AT

1) (x/i”a'wz)_é 2) {2V2+7)a 3y (Vitez)a 4) (5+7)a

75) A square has area 121 cm? by folding a wire in.square shape. If the saine wire is folded in cireular

shape, then arca of circle will be ...
D Mdem® - 2) 180cny 3) 154 om? 4y 176 cm?
§ 26- €& ' ' 18
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75) v AR F U & % AR FHIS TN WG B e 121 4. W%’iaﬁsﬁmﬁqﬁsw
% AIET W9 a1 oo B e B L |

1) 144 %, Hi 2) 180 P 3) 1549, WP 4 176 sﬂz

~ 76) What is periphery of a rectangle ABCD? , if AD = 3 and BD = 5 is given
Iy 12 2) 14 3) 16 4) 17

76) uH W ABCD w1 uftgg R % 7 aft AD=33RBD =54 % |

1) 12 D14 3) 16 4) 17
. 77) I psinf =q and 0 is an obtuse angle, then value of ,/p*—g* x tan® is ...
np 2) 9 3 pg A
77). gfe psind = QHEH@Q%W%IWJ}) ~q? xmnec”mm:r% ....... '
ne 2) q C3)pg 4 4
78) Area of the given field book is ...
1) 510
2) 492 |
~3) 490
4) 520 |
| f
78) & Tﬁﬁ%‘ ga“f &t %"J{fﬁﬁ I
1) 510
2) 492
] 3) 490
4y 520

79) Field book given in question no. 78, the area under triangular shapes is _
1) 250 260 3) 2400 4y270
79) Uy dem 78 1?{ & T Wi g% W HUEE AEhd & SR £ .
1) 250 - 2) 260 3) 240 4) 270 ;

19 _ PT 0.
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. 7 -
80} If sinf —cosd = Eaﬂd 0<6 < % then the numeric value of ging + cosf is equal to

: 17 13 1 6
1) - 2) = = —
' 13 'w T Y5
. 7 . .
80) o smﬁ—-cos@zgaﬂ‘{ 0<8<% 9 sind+cos® I GEIEHE 9 gUH E.
17 13 1 6
1) =~ 2y =2 3y - 2
' | T L ) 13 | Y 13

81) Which of the following pairs are correctly ma’téhe_;d ? Select the correct answer using the codes given
o - S | I . : _
~ District  Shape
(i) Jodhapur Irregular Polygon
(i) Sikar - Crescent - Shaped
(i) Jaisalmer-

" Peacock - Shaped
Duck - Shaped

1

T : (iv) Karauli
[ ‘Codes :-

1) (i) and Gv) 2) GiyandGii)  3) Only Gv) 4y @) and Gv)

81) et fftam & & -0 g W) e ¥ 7 i o G g o T B W we R -

fore HET
Gy @R - hEWe ggyeenr
(i) Hiy - SR '
HE (iii) Srame - AR
Gv) FE - U
m}"ﬁgﬁg " X qz“a ‘- |
1) e Gyy 2) @heErGin 0 3) '_%mmiv) 4 DER V)
2%6- 6 20
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82) In the above map location of those villages has been shown from which north - south and east-west
extent of Ragasthan is measured. These locations are malkcd as (i}, (n) (111) and (nr) Idenufy their
correct sequence from f:he series given beiow - ‘

1) Borkund, Sylon, Katra, Konda 2) Konda, Katra Sylen, Borkund
3) Syloxi, Konda, Katra, Borkund 4) Katra, Koncia Barkund Sylow

82) mmﬁaﬁ*qn@a%ﬁa&r@aaﬁmw%w%wwwﬁma@ cr'r\wi%rww
T & 1 7 Ryferat (1),(11),(111)311'{(1\/)%@4%6{6&“%% t Fﬁ%ré%vs‘maswmﬁmm

EEEHE

1) WWWW 2) E&WWWW

3) R, @, oy, g 4)_56€?TWETR§?§W

83) Examine the following staternents regarding physical divisions of Rajasthan and select the correct
. answér using the codes given below - - " ' ”
(i) Western sandy plain extends over 61.11 per cent fand area of the State
(i) Aravalli mountain region extends over 9.60 per cent land ares of the State
(iii) Eastern plains extend over 23.03 per cent land area of the State
(iv) South eastern phteau regzon extends over 6.37 pe; Lem ]and area o{ the State

Codes - o
1) G, Gi) and Gi) 2) (i) and (iif)
3) (i) and (iv) | 4y Only (i)

21 PO,

LIS,
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83) Wﬁsﬁ%mmﬁ%mqmamwmwﬁwmﬁwﬁ?ﬁﬁﬁmﬁmmw

ofl TER g -
@) 7 %6111 uE & - mﬁmrﬁﬁmﬁﬁm%s
(i) T % 9.60 vide &ﬁﬁﬁmmﬁfﬁaﬂﬁlﬁ?

= (i) g % 23.03 Wfterr g8 F odf Fap ar e )

(w)w%aﬁsﬁmaﬁawa@mﬁwﬂmﬂwfmﬁ%s

@ ) L
1) (D), iy 317 (il ' . ' 2) (1)6?1‘{ (m)
3) Gipeldy - 4) %am(;;‘

84) How much per cent area . of the sandy p}am ef weswrﬁ Rg_;asthan is dune - free ?

) 415 2 186 ) 611l 4) 147

84) WW%@%W@WWWWW aaﬁ%'?
1) 415 ) 186 3) 6LIL . .. &) 147

85) Arrangc the foilowmg mountam pf:aks of Aravaihs in asccndmg order of their beig bht -

1) Kumbhalgarh }arga Raghunamgarh Achalgarh
2) Achalga_rh.. Kumbh_algarh Raghugathgaih Jarga
3) Raghunathgarh - Kumbhalgarh ‘Acha}gath Jarga
4 Jarga Achalcarh Ktzmbhaigarh Raghunathgarh

s SS)mﬁFﬁaﬁﬁ?%ﬁﬁﬁWﬂWﬁWWéﬁumﬁqmﬁﬂﬁﬁﬁm

1) e - WM TG - S
2) @%’féﬁ% WCS TYATLAG - FEM
3) AN - GRS - STEETE - S
4) S - SRERIE - FHATE - AL

86) Intermis Oi‘é}:teﬁi df*dzégnagg area the correct ascending order ofthe river systems of Rajasthan is -
1) Mahi - Banas - Luni - Chambal _ 2) Lum - Ma}n - Chambal - Banag
3} Chambal - Luni’- Mahi - Banas gy Bfmas Main «Luni - Ch'xmbai

86) ervaw £ B e % gite § e & N a1 ud ondd we B -

| Ly W@ - e - g - aRE 2) T - A - T -
L 3)  wEm - ol - W - 4 T - wE - G - e
é‘::i‘;'.::r,,.

w.—.,m,é . : .
S R P L T YT TR v : i gt Rt e

e

S B
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oppen’s Climatic g our ow Wy ’
Region F“:-:.—_ W' i
o5 A ek ( i),

87) Inthe above map of Rajasthan Koppen'’s Climatic regions have been marked as (1), (i), (iti) and (iv).
Identify their correct sequence from the sams gwen be low -
1) BWhw, BShw, Cwg, Aw ©2) Aw, Cig, BShw, BWhw
3) BShw, BWhw, Aw, Cwg | 4) Cwg BWhw, BShw, Aw

- 87) W%WW&W%@W@W@W@,@ (m)aﬁ?(w)ﬁax%aféﬁmfrm%t*ﬁ%
& T EET W T TR STHEY vEarey -

1) BWhw, BShw, Cwg, Aw ) h o 2) Aw, ng,'BShw, BWhw
3) BShw, BWhw, Aw, Cwg ' - 4) Cwg, BWhw, BShw, Aw

88) Assertion (A) - Sierozem soils found in Rajasthan are relatively less fertile.
Reason (R) - Sierozem soils are deficit in niﬁ;qgen and carbonic matter,
Codes :- ‘ ' o :

] ) (A)and (R) are both correct, but R) does not comecﬂy explain (A)
2)  (A) and (R) are both correct, aﬁd (R) concc{iy expiams (A

~3)  (A)is wrong, but (R) is right ‘ ‘
4y (A)1s right, but (R) is wrong

88) HT (A) - TORYF H 9 o el dior gl % T i?ﬂ(&ci.eﬂﬁﬂ‘!@d FT EEE
0T (R) - Ao gt ¥ wggion aen wrdfe et o ed € §

1) (A) 7 (R) &F1 W8 €, T (R) (A) &1 81 =amer T8 @i
2y (A) SR (R) &1 wE E, 99T (R) (A) 1 TE = S €
3y (AT B, UG (R) FE T

4y (A)TE T, urg (R) e € |

23 g P10,
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89) Match List - I with List - Il and select the correct answer using the codes given below -

List-1
{(Wildlife Sanctuaries)
A) Band Baretha
' B) Sitamata
C) Nahargarh.
D} Phoolwari-Ki-Nal
Codes :-
A B C D

1y )y (i) vy (D)
2y () @) 3y (v
3y @iy Gvy () @i
4 (v G @ (G

89) Tl - L el - 1§ g e aar A feg

A B C D

Ho @ Gy Gy G

2y Gy @ G Gv)
3) G Gvy @ G
4) (v) @G @) (i)

List-1I
(District).

(i} Jaipur

(i) Udaipur
(iii) Bharatpur

. (iv) Chittorgarh

T e 1 TN T g -

gdr-1
(Remy
(1) Sy

(i) wEHgT

(i) g
(iv) IEGIEE

90) In terims of arca the largest agro - climatic zone of Rajasthan is -

1)y Irmigated north - western plain

3y  And western plain

2} Humid southern plain

4} Flood—pran_e east'qm plain -

90) &= @l glte U USrUE w1 wEl T2 FiU- Jwarg WuE ¥ -

i} (21.!2-"5%"‘1 \Qﬁ{,qﬁ,ﬂ% W

3y ywE uldEdl YEE

2) 3E El g
4) Mg W9 gE T

2%- @




91} In the above map of Rajasthan areal distribution of famous breeds of livestock has been marked as
(), (id), (iii) and (iv). Identify their correct sequence from the series given below -

1) Tharparkar, Rathi, Gir, Kankrej - D Kankrej,‘ Gir, Tharparkar, Rathi
3) Tharparkar, Kankrej, Gir, Rathi =~ 4) Rathi, Tharparkm Kankrej, Gir
: : : . LG T

'91) w&mé&wmﬁaﬁqgﬁaﬁmwﬁ%ﬁmﬁmﬁ@mg (it afie Giv) & sifirer Ry
% 1A & T FEEel W S T6 ogeN usaey -

1) AREER, e, R, e 2) wE, TT‘rz W W

3) URYEER, FHeiw, IR, zre% 4) W, ARRER, HpE, W
92) Match List - I with List - Il and select the correct answer using the codes gwen bg,k)w

List- 1 . o List-1 ' -

(Irrigation Project) . {District)

A) Bankli Dam : _ ; (i)'j Pratapgarh

B} Som-Kamla-Amba (i) Sawai Madhopur

) Morel Dam : (iii) Jalore

D) Iskbam Dam | ' (iv) Dungarpur

Codes :- '

A B C D
1 ® Gv oG G
2) Gv) () GH G
3y Gil) ) @ Gv)
4 G v Gh @)

25 PIT.0.
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92) i - 14 e - 14 g o e A R e e s o SR o -

T -1 -1 ;
(e afvarm) (e _ : l

‘ A) el dfg (1) sarTg

i B) - (i) wAE R

E ‘ C) 9w gy (ii1) FTAT I
D) e &ty (iv) THYL o
EC -

A B cC D
@ Gv G G | o
D Gy GO G GH R
B @ @6 G | | a |
4 G @ @ 6

. .

93) Match List - I with List ~ II and select the correct answer usmg the codes given below -
List-1 ' ' List - 11
(Irrigation Project) ' I (Associated States)
A) Chambal - (1) Ra:asthan, Madhya Pradesh

B) Mzhi-Bajaj Sagar -

C) Beas

D) Sardar Sargvar

Codes :-
A B C D

1 Gv) G @ i)

2) G Gi) G, (V)

36 Gv) Gi) - Gi)
4y G B Gv) (D)

A B C D
Gy () @ @i
2y ) Gy (@) v
3y Gy Gv)y Gy 4y
2y (i) ) Gv) (D)

(ii) Rajasthan, Punjab, Haryana
@iy Ragasthan, Gugarat
@v) Rajasthan, Gujarat, Madhya Pradesh, Maharashtra

99 w191 - Hagﬂmaﬁ%{qmﬁrﬁﬁqw%ﬁﬁwaﬁ?ﬁw@ﬁ@
U

(FEg )

() T, TETEe

(i) TorgN, YW, Ean
(iii) TEETEE, ﬂﬁﬂlﬁ :
(EV) LTRlA, ik, HWH@T Held

S e




Raiasthan
Irrigation Plan
“of Indira Gandh! Canal

94) In the above map of Rajasthan location of lift pfojecis of Indira Gandhi Canal have been marked as
(i), (i), (iii) and (iv). Identify their correct.sequence from the, series given below - '

1) Panna Lal - Barupal, Karni Singh, choudhary Kum];ha Ram, Jai Narain Vyas .
2) Jai Narain Vyas, Panna Lal - Barupal, Choudbary Kumbh;i;}{am, Karnt Singh .. -
3) Karni Singh, Jai Narain Vyas, Choudhary Kumbha Ram,'_Pzanna Lal - Barupal

_ 4) Choudliary Kumbha Ram, Panna Lal-Barupal, Kamni Singh, Jai 'Nai*ain Vyas '

94) ITF ¥ I WAL § ehew il et @ Rree ofdisme @ Rafr @ 6), ), G @R Gv) |

SRR e T & | AR € v el @ SR WE SIgHE weeiy -
2) SRR @, IS - I, died e, aviifie
3)  woiide, SERREY ST, Hied $YRM, TS - SR o
4) el G, TEE - ST, SHE, SERRE and

95) Which of the following water problems in Rajasthan is currently assuming worrisome dimensions?
1)  Excessive exploitation of water
2) Increasing pollution of water
3) . Increasing salinity of water

4)  Increasing number of dark and grey zones

95) FAHF W TR H W @] SM-0 aeeE 9aife e a9a W 76§ 7
1) rfo-iaEEs 2) W @ ged Jeuu
3) Sl o gEdr @guar C4) g SR gy g @ gedl den
26 - & : 27 P.T.0. -
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96) 1n terms of length wuhm Rajasthan territory the comrect a scendmg order of the fo}iowmg National
Highways passing through the State is -

1) NHNo.79-114-3-89 2) NH No. 3-114-79-89
3) NH No. 89-114-3-79 - 4) NH No. 89-114-79-3

96) Tomen -4 # g & gie ¥ oy A yoe A Be i i el @ 9l omE we
- 1) TR TR S 79-114-3-89 ' 2) A O HE. 3-114-79-89
I S 3) U ISME S 89-114-3-79 4) TEH TR . 89-114-79-3

97} Major Lignite ceal produmng fields of: Ra}asthan are located in -

oo 1) Kapurdi, Merta and Barsmgsar ' 2) Merta, Palana and Sonu
BES ' 3) Barsmgsar, Augucha angd Merta . 4y Palana, Sonu and Kapurdi

97) T ﬁwmm%mﬁaﬁm%t
1) wrd e AR W R 0 2) B, wwen o 8 A
3) e, g e dmar § O 4) e, W i a Rl A

98) Match List - I with List - I and select the correct answer using the codes given below -

List-1 - s List- 11 E
. (Minerals) C (M_mmg Areas)
A) Copper : (i} Rajpura - Dariba
B) Lead and Zinc o ' (ii) Nathra' ki -pal
C) Berylhium : . (i) Khoh - Dariba
D} Tron-Ore . ~ (iv) Bander - Sindri
Codes - - '

A B C D
Iy ) @iy vy di

2y () @) ) G
3) G GV G @
4 Gh G v O
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98) - Ia g - H%aﬁﬁwmw%ﬁawﬁmmmﬂﬁwm

gdl -1 -

(gf) (T &)

A) dfar () YT - shEn
B) € ud SN (i) T - B - I
- € aRfwum (iii) % - éan

D) @ - waw S (iv) FRT - geh
Fe |

A B C D
H @ G Gv) (i)
2) @) () @v) ()
3) i) Gv) () @)
4y D @) Gv) @)

99) Examine the foﬂowing'statements regarding instruments used in chain and tape survey and select
the correct answer using the codes given below - ;
i) In Gunter’s and Engineer’s chain each link i is respectzvely 0.66 and 1 foot long _ )
il 80 Gunter’s chain = lmile, 10 Gunter’s ¢hain = 1 furlong and 10 square Gunter’s chain = | acre
ili) In highly accurate chain and tape surveying metallic or sgf:el, tapes arc-used
iv) | In optical square both the rectangular mirrors are inclined at 55° to each other

Codes :- » _ _
1) (), (iti) and (iv) : | | 2)  (it), (i) zlxid Gv) .

3) (i) and (i) o | f - 4) (i) and (i)

99) a@mammwwﬁmwwﬁ%{w&mﬁwﬁ?@amwwm‘fr&w%‘@vm%f&qﬂq
Fe & YA H wE e g -
) Wmﬁﬁmaﬁaawﬁasﬁwméﬁmwfaﬁﬁﬁ
i) 80 e FlE = 14w, 10 e S0 = 1 Wi a9 10 99 ey 5 = 1 0T A g
i) el - t‘fﬁﬂwaﬁsw@mnﬁmﬁaﬁ%&wmzmmm@rﬁmmﬁ1
iv) weehia T (Optica] Squ’ue} H ZMl GTITER 890 W 55° SN W g A §

g - .
1) (), (i) and (iv) : (D, (iiij and (Gv)
3) (1) and (i) 4) (i) and (i1}

25 PT.0.
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100) What type of obstructions do the intervening buildings and railway tracks create in chain - iape
surveying? Select the cotrect answer-using the codes given below -
i) Obstructed vision
ii) Obstructed chaining
ili) Obstructed vision and obstructed chaining both
iv) Obstructed magnetic north

Codes

1) (i) and (iv) 2) (i1} and (i) . 3) (i) and (iv) 4) Only (iii)
100)Wﬁu€%a7@sWﬁmh%ﬁmaﬁaﬁmﬁwﬁ%ﬁmﬁwmm% ? ¥R g

T e BT A HY GE R g -

1) MEhE ajﬁe

i) Eg THA 9
iil) sEeg gfte qun sEeg S A SR

iv) wiE g I

1) ()-8 (v) S 2) (DemGH) 0 3) @beRGy 4 Had )
101) is the term given to the practicé of ﬂle’galiy daw’ﬁloading movie from a website ?

1) Parity 2) };”Iagiarism " 3) Paracy ), Privacy
10 @M%ﬁm%eﬁvw%@mm%%@ﬁmm%?

DR IE G ) WEERE 3)  uridr 4y wrEad
102} The contents of information arestored in ? | ‘

1) Memory data register R 2) Memoty address register

3} Memory arithmetic registers - | '4) Memory access register

102) ST 7 T i @ ondr & 2

1y =\ Ser e : 2) ﬁrﬁﬁ@?ﬁiﬁ
3) ﬁtﬁﬁﬁm@% e, 4) mﬁqa%ﬂ?%fm
103) Which of the following is “correct full fmm of BCD 7
- 1) Binary Coded Decimal - 2) Bit Coded Dsmmal
3y Binary Coded Digit - 4) Bit Coded D]G;t

10 BCD & T g sy P A A am A 2 ?

1) T *ISE SyHwd 2) Be wEE sgmmy

3) aal @ R 4) faz Frs Rtw

| 2 - 6
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104) Main storage is also called ?.

1) Accumulator 2) Control Unit -3} Register Unit- | 4) Memory

104) 3% g Yerw o BE 96 7 7 : : :
1) UREREY 2) T T 3) W ghe 4 ¥

105) The memory which is programmed at the time it is manufactured is?

1) ROM 2) RAM - 3) PROM ' 4) EPROM

105) =8 Fmfor % wwg o R B omen ©, g SEra E 7

I) ROM 2) RAM . 3) PROM ~ 4) EPROM

106) What does CD ROM stand for ?
1) Compactable Read Only Memory
2} Compact Data Read Only Memory .
3y Compactable Disk Read Only Memory
4y Compact Disk Read Only Memory

106) WE 19 By w=ii o §

1) Compactable Read Only Memory
2) ®Ee 32 Read Only Memory

3} Compactable [$&5 Only Memory
4) @WaEe 8% Read Only Memory

107) Which of the following memories must be.reﬁ_‘eshed many times peﬂi‘is.ﬁQOHd ?

1). Static RAM 2) Dynamic RAM 3} EPROM - 4) ROM

107) = e W &, o ofr ¥ wE am Be B wmr el 2
BV ks 2) EEE Y 3) EPROM  4) ROM

108) Hard disk is coated in both side with 7 | '

Ij_ Magnetic metallic oxide | 2) Optical metai.ﬁé‘ oxide

3) Carbon layer : 4y All of the abové
108) e fewp % 2 va Fomd Gfvm &7 ¥ 2 | o

1) e urg s 2) iifemn wg wiEEe

3) @A T 4) T @b

109} Which of the following storage device can store the largest amount of data ?

1) Hard Disks 2) Flash Disks 3) Blu-Ray Disks 4) DVDs

26- & 7
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109) Fret ot sfemeor g & et e At wd o TR Wi w0 E 7
D g R ) wefEwm 0 3) W R 4y g
110} Cache memory acts between____ ? ‘ |
1) CPU and RAM - 2) RAM and ROM
3) CPU and Hard Disk 4) None of these
110) Cache ¥ oy &1 & o &/ &var & 7
1) CPU &t RAM . | ©2) RAM &R ROM
HE 3) CPU & wE fewp 4 T Y EE A
‘ 11H What is a Compiler 7 | ”

) A combmaimn of computer hardware
2) A program which translates from one high-level language to another
3) A program which translates from one high-level to machine level 1anguagf__:

A4 N(me of these

T11) sheamert war v 7
1) e SRR A U e
2) wwﬁw%@%ﬁm’mwm
3) w&ﬂqmaﬁwmmwﬁm%ﬁmwm
4) TR | wE T

+

112) What does GUI stand for ? _
1) Gaming User Interface - 2} General User Interface

3} Graphical User Interface 4) ‘Guidance User Interface
112) GUY a1 @ @sf grr 2 7 _\ | |
) fF R geew L 2) TR 49 RO
3) wiese gue gexi . 4) W IO E%E

113) Which of the following entity does not belong to word processing ?

1} Characters "2y Words ' 3y Cells ~ 4y Paragraphs

113) ¢ uwids & B B gen %A PE?T%W HET R 7
1) e ) w3 am | 4) Wi

32
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* 114) FORTRAN is programming language. What does FORTRAN stand for ?

1) Forbid Translation 2) Format Translation

3} Formula Translation 4) Foriune Translation
114) B o S | 2. m%mm&‘hm% ?

1) Forbid SRy o 2) Format ERe

3) Formula TR . 4) Fortune gAY

115) Which language is directly understood by the computer without translation program. 7
1) Machine language ) Assem.bly_lan.guégé
3} High level language ! 4) None of above -

115) 1 & s &0 Seme b R e @ @ § o § 7

1) A s E 2) Sl W
3) wE R & A 4) HT H FE A
116) The original ASCII code used bits of each byte, reserving that last bit for error checking ?
n s 2) 6 7 PR
116)3%&%%@%%&%%@5%%%%%%&% %msqa‘mmﬁ’r%?
1) 5 2y 6 ' 3 7 4y - 8

117¥To auto fi\{ the width of column, in Excel Sheet ?

1) Double click the right border of column
2) . Double click the left border of co_lumn
3) Double click the column header
4)  All of above |

117)116?{?1163%3% mmﬁmﬁmmm%m

) i & o S o e w
2) - whT ¥ o G W saw R
3) wiwH 3¢ U BEw R
4) ST wl
118YWhich can be used for quick access to commonly used commands and tools 7

1) Status bar 2) Toolbar 3) Mepubar ~ 4) Title bar

33 PO,
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118) Seiv 9 89 commands and tools WY @t vy & oo g MWW%‘?

1) ®ed AR 2) AR 3) A 4) sffw aw
119) Which of the following is not valid version of MS Office ? _

1) Office XP N 2y - Office 2010

3) Office Manager - 4) None of them
119) MS oifew @1 0 wemo P H A @ wadiv ?

1) iy Xp 2) Ay 2010

3) oiftbg Manager o 4) @ f P A8

120) Which of the following function, prowdes a hst of other words that those who are actually or nearly
the same meaning is 7 '

1) Find | ' ~_2) Replace

3) Synonyms 4) -Speﬂing and Grammar
120)%%%%%}?{ Q@rge%a@a%aﬁrmm% @raﬂwﬁmwwﬁm‘fzﬁaﬁ%?

1) @Rt 2) W '

3) . FEFEE 9 - o 4}61?%%@:'&:{[%

121) A Digital signature is ?
1) A bit string giving name of a conespohdan‘tf : a
2} A unique identification of a sender RS
3) An authentication of an electronic record by tymc it umquely to a key enly a sender knows
4) A printed signature of a sender

121)@%&@3@%@%?
1) uw e gam, sﬁ%mﬁmw%
2) uF dud w ugp o ggwe : | '
3) %WK@W%@(W@&%W&) @z%%ﬂﬁ@%m%
4) uE by W ouw 9 e
1223 How do you select an entire column ?

1) Select Edit > Select > Column from the menu -

2y Click the column heading :
3) Hold down the shift key and click anywhere in the column
4y Hold down the Curl key and click anywhere in the column

T




122) %3 oM U QY R T G e E 7

1) ulRe ®mr w3 B > A9 gA > #ieH gy

2) wiew o 9T e we

3) f\mww@eﬁtwﬁ%‘wﬁmﬁ
4) Culwmz@aﬁ?wﬁrm”raﬁﬁwﬁ

123) To create a formula, you first ‘? !

1) Select the cell you want to place the formula ini{i '

2) Type the equals sign (=), to "téiigExcel that you’re about to enter a formula ...

3) Enter the formula using any mput values and the appropriate mathemaacaj operaters that make
up your formula i

4) Choose the new command from the file menu

123) v e et 3 o, e 4
1) e ® & § |

S 2) W (=), aﬁmmﬁmmma@%l | ‘ |
3) %ﬁmﬁmﬁmmﬁmnﬁmm%mmmﬁ
4) Wﬁi%wmgﬁ :

124) Comments put in cells are called ?

1) Smart tip 2) Cellip 3 -W_e#’ ) Soft tip
124) fm ¥ = 0 e A = w7 o o
1) = Ry 2) Wy 3) g few 4)@{'%%@

o 125) You can use the format painter muitzp}e umes befere you tum 1t off by ?

1)  You can use the format pamter button on}y one, txme th:n you chck it

2} Double clicking the format pamter button
3) Pressing the Cirl key and-click the format painter button
4} Pressing the Alt key and click the format painter button

125) 319 wiHE Yet &% g SUEnT &Y TEd €, 39 9 & 8 e 7
1) WW%WHWWWWW‘W%?%,mcﬂmgémﬁ
2) wiE Yo ged W S 1R _

3) Ctzlmaam*@a{ﬂmﬁaawwﬁﬁ?
4) Al it e W 3R wite Yet ged W i

35 ) P.XD.
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126)%%’1&@%%%&?—%_%-

1) et 7 2) o 3) g ' 4) g
127) e 7 ST T E - | |

1) T 2 PreEEm %) srEEE 4) g
128) et & fiftfr o T ¥ - | .

1) SEER ) sam . 3) "N 4) PRI
129) 97 7 % - R P |

D sk 2) RS 3) . i 4y Tt
130) STITETH 1% - g e & - | |

1) W Y s 2)%@%311651?&3 ‘E%%ﬁ 4 FEd g

BRI 133%%@@%’:5'@3&%% e -
2 i 1) ey ) TEife 3) ara:ra?rma 4) wHag
132) fores oty v & i ) e e A & - o R €
1) wdE 2) FWE 3) ﬁm 4y ferdraur
133) %%, &8, T@ S g SR € - . B |

1) g 2) diffes emg 3) RomE Ay 4) g
134) wEE 9F % - _'

1) & ) T 3 ke 4) frsh
135) @ wwwf @ Rfg s de- -

1) HEEm D T %) e 4) wiea
136}%3@@%&6&:%@@%3@%

1) WER - @el + . 2)%‘& m+@r

3) e - HEq 4 W co oy d) UEE - Y 4 S
137) ‘Ge @ HEE @ aY ¥ - -

3y giamd wr T mwi}m

36
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138) argferay a1 fedls Rig & -

N 2) oy 4 A
139) ST ey T8 § - c
1) ufem @ 9 e B | 2) AR B¢ B AL O T |
3y TET S dlg | o (e | C4) o T e IS
140) “erehy a1 qafrardy v 7 % - |

1) &R 2 Am 3) mET - 4) gosiE
141) v i & - |

) 3 2) 7 _ 3) & 4) 4
142) W& + a1 918 &1 Wiy e - |

1) e 2) werH 3) wEEH | 4) wEHA
143)gsror grex WE ¥ - o |

1) g 2) @ 3) wem 4 3w

144) f@m 9=z - g T8 ¢ - | |
1) HEW - B 2) T - 9T 3) o - R P
145) Implementation %7 &= qR¥Ifv% o/ & - -

1) i e 2) Ffeend - 3) mﬁa | 4) wrEtEEs
146) ‘grer &) v Rt afe iRy emnrd B ¢ 9w s & SR % Rew smede § Al § -
1) ey 342 2) gy 343 3) HTRE 344 4y Ty 345
147) & 9T s & - ‘ -' | o
D frm 2) g 3) WgEN - 4) 7™

148) e o7 e w9 ¥ - .
1) P ) e - 3) Fr ) Ew

149) &t & qig § wgw dia aried o Meead o € -

1) T a2 @ wr gz gom £
2) &g W% G el & o U 8 oud ' o
3y alt Wdl wfm g oF ey owiE s §oar ouw o A g B

4y T wm o &9 § 93 el % orawd B 9T BT 9F ®I & a4 B ofEr ¥

26 - % 37 | P:TO
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oy

oY oF

150) afferar - aferr 3

2) @IAR - &L
4) e o -

1) T -
3) UEd - faE w

Pr—Y




